Turkey Enterprise Phase 2 Codebook

type:

range:
unique values:

mean:
std. dev:

percentiles:

type:

range:
unique values:

mean:
std. dev:

percentiles:

type:

range:
unique values:

mean:
std. dev:

percentiles:

(unlabeled)
units: 1
missing 0/5000
50% 75% 90%
2503.5 3756.5 4508.5
sample area
units: 1
missing 0/5000
50% 75% 90%
220.5 337 408
serial number
units: 1
missing 0/5000
50% 75% 90%
2503.5 3756.5 4508.5

type:

range:
unique values:

mean:
std. dev:

percentiles:

numeric (int)
[1,5009]
5000
2503.88
1446.63
10% 25%
500.5 1250.5
numeric (int)
[1,528]
463
225.901
132.862
10% 25%
50 110
numeric (int)
[1,5009]
5000
2503.88
1446.63
10% 25%
500.5 1250.5
numeric (int)
[1,5009]
5000
2503.88
1446.63
10% 25%
500.5 1250.5

units: 1
missing 0/5000
50% 75% 90%
2503.5 3756.5 4508.5



type:

range:
unique values:

mean:
std. dev:

percentiles:

numeric (int)

[1120,93009]
140

4707.54
1583.05

10%
2221

type:
label:

range:
unique values:

tabulation:

numeric (byte)
c 1o

[1,3]
3

Freq. Numeric
3742 1
103 2

1148

units: 1
missing 1148/5000
25% 50% 75% 90%
3691 5131 5239 5520
permanency of activity
units: 1
missing 1148/5000
Label
permanent
seasonal
temporary

type:
label:

range:
unique values:

tabulation:

numeric (byte)
YesNo

[0,1]
2
Freq. Numeric
3695 0
157 1
1148

units: 1
missing 1148/5000
Label
no
yes

type:

range:
unique values:

mean:
std. dev:

numeric (int)

[111,9302]
57

4060.87
2290.04

units: 1
missing 4843/5000



percentiles:

10% 25% 50% 75% 90%
1513 1721 5030 5252 6304

c 19 is this the only operation in which the enterprise operates?
type: numeric (byte)
label: YesNo
range: [0,1] units: 1
unique values: 2 missing 1148/5000
tabulation: Freq. Numeric Label
3345 0 no
507 1 vyes
1148
c_ 20 how many other locations?
type: numeric (byte)
range: [1,6] units: 1
unique values: 6 missing 4493/5000
tabulation: Freqg. Value
392 1
79 2
18 3
11 4
5 5
2 6
4493
c 21 number of persons engaged at interview time
type: numeric (byte)
range: [1,70] units: 1
unique values: 44 missing 1148/5000
mean: 4.19678
std. dev: 5.08895
percentiles: 10% 25% 50% 75% 90%
1 2 3 4 8
c 22 space: area of economic unit at interview time
type: numeric (long)
range: [1,100000] units: 1
unique values: 234 missing 1160/5000
mean: 331.998



std. dev:

percentiles:

75% 90%
140 300

value of assets:

at interview time

type:

range:
unique values:

mean:
std. dev:

percentiles:

3090.91
10% 25%
15 2
numeric (double)

[0,5.000e+10]

units: 100
missing 1443/5000
50% 75% 90%
1.0e+07 4.5e+07 1.2e+08

(quantity/value), per month:

at interview time

type:

range:
unique values:

mean:
std. dev:

percentiles:

230
8.2e+07
8.8e+08
10% 25%
1.0e+06 3.0e+06
output
numeric (long)

[0,1.500e+09]

type:

range:
unique values:

mean:
std. dev:

percentiles:

150
4.1e+06
3.1e+07
10% 25%
0 200000
numeric (long)

[0,8.000e+08]

237
1.3e+06
1.8e+07
10% 25%
0 0

units: 10
missing 1571/5000
50% 75% 90%
700000 2.0e+06 6.0e+06
wage bill: at interview time
units: 10
missing 1354/5000
50% 75% 90%
250000 800000 2.0e+06

raw materials and purchase of goods

(per month) :

at interview time

type:

range:
unique values:

mean:

numeric (long)

[0,2.500e+08]
128

1.8e+06

units:
missing

1000
1470/5000



std. dev: 1.1e+07
percentiles: 10% 25% 50% 75% 90%
0 0 0 100000 2.0e+06
c 27 energy consumption (per month): at interview time
type: numeric (long)
range: [0,2.700e+08] units: 10
unique values: 155 missing 1188/5000
mean: 237019
std. dev: 4.5e+06
percentiles: 10% 25% 50% 75% 90%
15000 25000 50000 100000 300000
c_ 28 other expenditures (per month) rent: at interview time
type: numeric (long)
range: [0,35000000] units: 1
unique values: 197 missing 1278/5000
mean: 216634
std. dev: 748344
percentiles: 10% 25% 50% 75% 90%
0 0 90000 220000 500000
c 29 value added taxes: at interview time
type: numeric (long)
range: [0,51000000] units: 10
unique values: 137 missing 2804/5000
mean: 287955
std. dev: 1.6e+06
percentiles: 10% 25% 50% 75% 90%
0 0 8000 75000 350000
c 30 cost of financial services: at interview time
type: numeric (long)
range: [0,40000000] units: 1000
unique values: 72 missing 1336/5000
mean: 91114.4
std. dev: 997683



percentiles: 10% 25% 50% 75% 90%

0 0 0 0 0
c 31 others: at interview time
type: numeric (long)
range: [0,18000000] units: 100
unique values: 131 missing 1294/5000
mean: 233488
std. dev: 776066
percentiles: 10% 25% 50% 75% 90%
0 0 31000 210000 500000
c 32 total other expenditures: at interview time
type: numeric (long)
range: [0,51000000] units: 10
unique values: 476 missing 1764/5000
mean: 483818
std. dev: 1.8et06
percentiles: 10% 25% 50% 75% 90%
0 0 80000 350000 875000
c 33 total expenditures (per month): at interview time
type: numeric (long)
range: [0,2.830e+08] units: 10
unique values: 974 missing 1911/5000
mean: 2.1le+06
std. dev: 9.2e+06
percentiles: 10% 25% 50% 75% 90%
0 0 245000 1.0e+06 3.6e+06
c 34 number of persons engaged one year ago
type: numeric (byte)
range: [1,50] units: 1
unique values: 42 missing 1223/5000
mean: 4.36802
std. dev: 5.10754



percentiles:

space:

area of economic unit one year ago

type:

range:
unique values:

mean:
std. dev:

percentiles:

numeric (long)

[1,100000]
228
333.569
3134.2
10% 25%
15 2

units: 1
missing 1227/5000
50% 75% 90%
70 140 300

value of assets:

one year ago

type:

range:
unique values:

mean:
std. dev:

percentiles:

numeric (double)

[0,4.000e+10]

378
6.9e+07
7.2e+08
10% 25%
700000 2.0e+06

units: 1
missing 1547/5000
50% 75% 90%
1.0e+07 4.0e+07 1.0e+08

range:
unique values:

mean:
std. dev:

percentiles:

output (quantity/value), per month:

numeric (long)

[0,1.000e+09]

148
2.8e+06
2.0e+07
10% 25%
0 100000

units: 100

one year ago

missing 1705/5000
50% 75% 90%
500000 1.5e+06 4.0e+06
wage bill: one year ago

type:

range:
unique values:

mean:
std. dev:

numeric (long)

[0,4.000e+08]
194

761563
7.0e+06

units: 100
missing

1549/5000



percentiles: 10% 25% 50% 75% 90%
0 0 150000 600000 1.5e+06

c 39 raw materials and purchase of goods (per month): one year ago
type: numeric (long)
range: [0,2.000e+08] units: 100
unique values: 106 missing 1614/5000
mean: 1.2e+06
std. dev: 8.0e+06
percentiles: 10% 25% 50% 75% 90%
0 0 0 75000 1.5e+06
c_40 energy consumption (per month): one year ago
type: numeric (long)
range: [0,2.000e+08] units: 10
unique values: 126 missing 1351/5000
mean: 155012
std. dev: 3.3e+06
percentiles: 10% 25% 50% 75% 90%
10000 15000 30000 70000 175000
c 41 other expenditures (per month) rent: one year ago
type: numeric (long)
range: [0,25000000] units: 10
unique values: 181 missing 1373/5000
mean: 154674
std. dev: 544086
percentiles: 10% 25% 50% 75% 90%
0 0 60000 150000 350000
c 42 value added taxes: one year ago
type: numeric (long)
range: [0,32000000] units: 10
unique values: 106 missing 2823/5000

mean:
std. dev:

176043
1.1e+06



percentiles:

10% 25%
0 0

75%
50000

90%
200000

cost of financial services:

one year ago

type:

range:
unique values:

mean:
std. dev:

percentiles:

numeric (long)

[0,25000000]

44
27665.7
480340
10% 25%
0 0

units: 1000
missing 1407/5000
50% 75% 90%
0 0 0
others: one year ago

type:

range:
unique values:

mean:
std. dev:

percentiles:

numeric (long)

[0,12000000]

95
137013
511312
10% 25%
0 0

units: 100

missing

1531/5000
75% 90%
100000 300000

total other expenditures:

one year ago

type:

range:
unique values:

mean:
std. dev:

percentiles:

numeric (long)

[0,32000000]

354
292754
1.2e+06
10% 25%
0 0

units: 10
missing 1832/5000
50% 75% 90%
42000 220000 540000

total expenditures

(per month) :

one year ago

type:

range:
unique values:

mean:
std. dev:

numeric (long)

[0,95500000]
886

1.3e+06
4.7e+06

units: 10
2024/5000

missing



percentiles:

50% 715% 90%
150000 680000 2.4e+06

total sales-revenues

(per month) :

at interview time

type:

range:
unique values:

mean:
std. dev:

percentiles:

type:

range:
unique values:

mean:
std. dev:

percentiles:

numeric (long)

[0,1.000e+09] units: 10
159 missing 1862/5000
8.9%9e+06
3.7e+07
10% 25% 50% 75% 90%
250000 500000 1.5e+06 5.0e+06 1.6e+07
of which, exports (per month): at interview time
numeric (long)
[0,1.300e+08] units: 10000
25 missing 1202/5000
199855
3.8e+06
10% 25% 50% 75% 90
0 0 0 0

added new products preceding year:

at interview time?

type:
label:

range:
unique values:

tabulation:

numeric
YesNo

(byte)

(0,1]
2

Freqg.
3431
421
1148

Numeric

Label
no
yes

units:
missing

1
1148/5000

type:

range:
unique values:

mean:
std. dev:

numeric (long)

[0,1.000e+09]
113

2.4e+06
2.7e+07

units:
missing

1000
1202/5000

10



percentiles:

90%
175000

c 51 total sales-revenues (per month): one year ago
type: numeric (long)
range: [0,7.000e+08] units: 1000
unique values: 152 missing 2038/5000
mean: 6.2e+06
std. dev: 2.7e+07
percentiles: 10% 25% 50% 75% 90%
200000 500000 1.0e+06 4.0e+06 1.3e+07
c 52 of which, exports (per month): one year ago
type: numeric (long)
range: [0,6.316e+08] units: 10000
unique values: 20 missing 1198/5000
mean: 338006
std. dev: 1.1e+07
percentiles: 10% 25% 50% 75% 90%
0 0 0 0 0
c 53 added new products preceding year): one year ago
type: numeric (byte)
label: YesNo
range: [0,1] units: 1
unique values: 2 missing 1148/5000
tabulation: Freq. Numeric Label
3464 0 no
388 1 vyes
1148
c 54 value of new assets acquired during preceding year:

one year ago

type:

range:
unique values:

mean:
std. dev:

percentiles:

numeric (long)

[0,1.000e+09]
77

1.3e+06
2.0e+07

10%

units:
missing

50%

1000
1259/5000
75% 90%

11



c 55 intends to stay in present activity?
type: numeric (byte)
label: YesNoDK
range: [0, 8] units: 1
unique values: 3 missing 1148/5000
tabulation: Freq. Numeric Label
769 0 no
2516 1 vyes
567 8 don't know
1148
c 56 expectations for the future: employment
type: numeric (byte)
label: expectation
range: [0,8] units: 1
unique values: 4 missing 1148/5000
tabulation: Freq. Numeric Label
1196 0 contraction
1807 1 stable
798 2 growth
51 8 don't know
1148
c 57 expectations for the future: area of economic unit
type: numeric (byte)
label: expectation
range: [0,8] units: 1
unique values: 4 missing 1148/5000
tabulation: Freq. Numeric Label
428 0 contraction
2863 1 stable
511 2 growth
50 8 don't know
1148
c 58 expectations for the future: output
type: numeric (byte)
label: expectation
range: [0, 8] units: 1
unique values: 4 missing 1148/5000

12



tabulation:

Freq.
1538
1094
1095

125
1148

Numeric
0

o N -

Label
contraction
stable
growth
don't know

expectations for the future:

assets

type:
label:

range:
unique values:

tabulation:

numeric

(byte)

expectation

[0,8]
4

Freq.
907
2171
721
53
1148

Numeric
0

o N

units: 1
missing 1148/5000
Label
contraction
stable
growth

don't know

expectations for the future:

acquisition of

type:
label:

range:
unique values:

tabulation:

numeric

(byte)

expectation

[0,8]
4

Freq.
463
2250
1023
116
1148

Numeric
0

o N -

units: 1
missing 1148/5000
Label
contraction
stable
growth

don't know

revenues

type:
label:

range:
unique values:

tabulation:

numeric

(byte)

expectation

[0,8]
4

Freq.
1611
1032
1144

65
1148

Numeric
0

1
2
8

expectations for the future:
units: 1
missing 1148/5000
Label
contraction
stable
growth

don't know

13



type:
label:

range:
unique values:

tabulation:

expectations for the future: domestic sales

numeric (byte)
expectation

[0,8]
4

Freqg. Numeric
1469 0
1093
1020

270
1148

o N -

units:
missing
Label
contraction
stable
growth

don't know

1
1148/5000

type:
label:

range:
unique values:

tabulation:

numeric (byte)
expectation

(0,8]
4

Freq. Numeric
17 0

86

73
3676
1148

o N -

expectations for the future: exports

units:
missing
Label
contraction
stable
growth

don't know

1
1148/5000

type:
label:

range:
unique values:

tabulation:

expectations for the future:

numeric (byte)
expectation

[0,8]
4

Freq. Numeric
256 0
1597
674
1325
1148

o N =

units:
missing
Label
contraction
stable
growth

don't know

adding new products

1
1148/5000

14



